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Calculate

27+13
9 4

2

Factorise

the following
expression...

20 —16m

3 Calculate the
range of the
following
data set...

4,1,-3,7,0,-5

4 Multiply out the
following brackets
and simplify...

4(2x — 6) + 19

5

Express — as
press 1
a decimal

6
Calculate
314 x 159

7 Solve the

following
equation...

8x+15=4-3x

8

Calculate
the
area
of this

90m

trapezium. l

I

(& Aldi
240 TR
shoppers \T \ Tesco EL’?”
asked, b

How many went to Aldi?

10
Increase

40 cm
by 300/0

1 A roller coaster

took 3 minutes
to cover 25 miles.
What was =
it's average &8
speed?

12 Different colours of
paint were used for
a 10 litre mixture.
6-81 litres of blue paint and
2:059 litres of yellow paint
were used with the rest of

the paint being red. How
much red paint was used?

13

=
= 6-35 kg
A heavy weight
boxer weighs

15 st 2 Ib. How E

heavy is he in kilograms?

pound | 453-59 g

stone

Which is more

Calculate the

The circumference . L s i
14 of this 15 ]l.? ] likely? Pliklrft:g a 17 length of the 18 19 Wr'ITe
pieis ¢lub Trom a pack o missing | Write . -2
628cn. | Calculate | Pplaying cardsor g L Vside. | e ety
Calculate getting a score of "% _ | e in humber
it's _7\2 - more than 4 from L] @ | straight
diameter. (9 7) ’ ‘flé rolling a dice. X cm & | ine fOI"m.
Calculate the gradient Buttons are i 'nth' Robert is growing =
20 21 of this escalator... 2 2 manufactured that Find the nh 24 a sunflower. One 2 5  12m — %ﬁl
/I\ must have a diameter foll T'er'm for the week its height increased A
with a tolerance of ollowing sequence | from48cmto =
Calculate 6 m {0 12ymm What | qnd hence find the | 60 cm. Calculate E Calculate fm
. \l/ maximum diameters 10™ term: The percgnTage "‘:; area
879 2 -~ 2 8 /' that are acceptable? increase in the \ of this \/
4 m ’ 7,11,15, .. sunflower’s height. g | shape..
The following signs Calculate the size Calculate the A standard boﬁle of Calculate the
26 Sre mathematically 27 firemssngange| 28 volume of 29 wine holds 3 litre. 30 31 length of the
s Area 24 em? 120m N this w many 175 ml 3:?::2&2 Calculate N muss:jng
Calculate ' / \ shape the size 4 side.
he Q 72m f2em SePE T rroa = | of the 33m
missing p—— ' standard E:SIS;ZQ J ‘5?5
area.. < —-+ 8 cm §i2 1 [ bottle? gies.. <—50m ——>
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